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bout 82% of Dr. Street’s introductory statistics students pass his course.

ility that a randomly selected student from Dr. Street’s current introductory
ill earn a passing grade?
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nds: Malik, Samson, Quint, Jennifer, and Monique.

oose one of them to attend a basketball game with you. What is the

ou choose Quint?
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oose one of them to attend a basketball game with you. What is the

ou choose a friend whose name starts with the letter “M”?
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oose four of them to attend a basketball game with you. What is the
ennifer is not chosen to attend the game with you?
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. You randomly chpose four of them to attend a basketball game with you. What is the

ou choose at least one friend whose name starts with the letter “M”?

O (ﬁ (east g W {SM etk op MV@

:Tlied very hard for this test, and you believe that the probability that you'll
pass the test is O,

99. Which of the following statements is true?

A)  The value 0.99 is a personal probability. —fvwe
B) The value O 99 indicates that you don’t expect to pass the test. 6&.91)#—
C) You'll be st rprised if you don’t pass the test. Ayt
D Both (A) and (B) are true,
@b Both (A) arLd (C) are true.

9. The odds against
Derby are 7to 3
will win this year’

10. The Virginia State
new scratch-off t
lottery game?

racehorse #9 (named “Southern Comfort”) winning this year’s Southeastern

7:3 odds against winning). What is the probability that “Southern Comfort”
s Southeastern Derby? = g
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Lottery Commission states that the probability of winning a prize in their

cket lottery is 0.31. What are the odds against winning a prize in this new

693l




11. What are the possible values that a probability can take? Give an example of a probability that

violates this rule?
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12. All probabilities must/add to what value?

L. o o

ngmm O orbk U ireluacee
|.2 w&b&&

13. What is the difference between an experimental probability, a theoretical probability and a personal
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14. Suppose that children jare assigned randomly to a school classroom, and the chance of a child being
a boy or a girl is exactly equal. Draw a tree diagram to find the number of ways 3 children can be
selected to join a class. Then use that tree to determine the probability that two of the three children

are girls.
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15. Suppose that you have
you to Cedar Point. You'd
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three friends Delilah, Ester and Franklin. You’d like to take one friend with
also like to take one friend with you to the Rock-n-Roll Hall of Fame. If you

choose which friend to go|with you at random, use a tree diagram to find all the different ways your

three friends can go with
least one of the trips.
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STAT 1350, 3/26 Discussion Questions

1. What is the term for a random phenomenon :aescribes all the possible outcomes and indicates
how to assign probabilities to any collection of outcomes.
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2. What is the term for the distribution of a stat|st|c mdlcates what values the statistic takes in
repeated samples from the same population and how often it takes those values.
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3. An experiment has four possible outcomes: A, B, C, and D. Which of the following is a
legitimate assighment of probabilities for these four events?
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Both (B) and (C)

If we roll a pair of fair dice and count the number of aces (one dot) showing, the probability model is as

follows:

Count of ace
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Probability
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1/36

4. The probabhility of no aces is

5. In backgammon,
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6. Use a tree diagram to rind all the ways that four coins can be tossed (or the same coin tossed 4 times)
according to whether they come up heads or tails. Use that to state the probability distribution for the
number of heads after 4 tosses to complete the table.

one rolls a pair of two fair dice. The probability of getting a sum of 7 is
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